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he Karachi Stock Exchange is the largest of three stock exchanges in Pakistan.
Generally the price trends in the stock markets are shown by an index which is

also taken as a measure of the performance of the market. Initially to judge the
performance of Karachi Stock Exchange, 50 shares index was introduced but it became
non-representative with the increase in the market size. On November 1, 1991, KSE-
100 was introduced which is the most generally accepted measure of the Exchange.

The KSE-100 is a capital weighted index and consists of 100 companies representing
about 86 percent of market capitalization of the Exchange.

In 1995 to support the KSE-100 Index, the KSE-All Share Index was launched but
KSE-100 remains the most acceptable measure of the market activity.

Dynamics of KSE:

As of May 2006, the number of listed companies is 663, which has been quite consistent
over the years as shown in Fig. 1, with the addition of only 2 companies in 2006
depicted by Fig. 2.
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Fig. 3 - Market Capitalization (Rs. Million)
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Fig. 1 - Listed Companies
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Fig. 2 - New Companies Listed
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As depicted by Fig. 3, the market capitalization has increased phenomenally over the
years which cannot be attributed to increase in the number of companies. The average
daily turnover has also increased over the period.

Why is the KSE-100 Index distorted?

The KSE-100 Share Index has shown a marked improvement in terms of activity
which is shown by the rising trend in the index points. The index weightage in the
market is nearly 86%. As the index is based on market capitalization so the companies
enjoying high market capitalization capture the index. The distribution of the companies’
weightage in the index is given in Fig. 6 which clearly shows the distortions caused
by the index calculation.

It can be seen from Fig. 6 that OGDC1, has the highest market capitalization and enjoys
23.11% of the total KSE-100 Index capitalization. This is too high a weightage given
to one scrip and causes distortions in terms of market movements2. Top 5 companies,
OGDC, PTCL, NBP, PPL and MCB, are representing almost 49% of total index weightage.
KSE-100 index has been a target of criticism for its asymmetry. Even a trivial change
in prices of a few of heavyweight stocks changes the direction of the market.

KSE-All Shares Index is not generally an acceptable measure of the market movement
and hardly used to track market changes.

Fig. 5 - KSE-100 Index
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1Oil and Gas Development Company
2The data is for May 24, 2006 taken from KSE Website.

Fig. 6 - KSE-100 Weightage Distribution (%)
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It can be concluded from the above cursory look at the indices dynamics that a new
index is urgently needed which should be a representative of the market. A meeting
of the board of directors of the Karachi Stock Exchange on Thursday, May 11, 2006
was conducted and decision was taken to implement the KSE-30 index from July 1.

The proposed index – KSE-30 Share Index is based on the following factors: as is
seen from Fig. 6, that a few scrips draw investors’ interest so an index with a smaller
number of shares will be more representative of the market. An example of such an
index is the Sensex – Bombay Exchange Sensitive Index – the benchmark index of
the Bombay Stock Exchange. It is composed of 30 of the largest and most actively-
traded stocks on the BSE. Secondly the market capitalization should be calculated on
free-float. This is a variation of the market capitalization method, which instead of
using a company's outstanding shares, uses its float, or shares that are readily available
for trading. The free-float method, therefore, does not include restricted stocks, such
as those held by company insiders that cannot be readily sold. The decision regarding
running of the two indices parallel is still to be taken.

https://ir.iba.edu.pk/businessreview/vol1/iss1/17
DOI: https://doi.org/10.54784/1990-6587.1105

Published by iRepository, February 2021


	Why is a new index needed?
	Recommended Citation

	Why is a new index needed?

